124 F LICF D222 X|ehE3HE 100 km/h, 0= T2 22 XL 3 65 mi /h QF H|

= sol) unit H&t X[ 1 mi(OtY) = 1.609 km,
65 = = {65} {=°=) = 104.585 km/h

7 1mi
ans.) 7| '—H:f X1|6,_V_,*E|,O| DI%EEf 4.585 km/h EE|- xrq

145 SUALUIENM 72 =AHEL B2 X2|+=F 7X[5ks O|lfE d35H7| ?I8l (v3)? & AlLtettts Ha
a) V3 & 7ot M Xt El+2 XHE ChE MM &5t0l 78 <At M A2 #7].
b) V3 & Ul A2 A5t MHE= A& M AE+=2 #7].

= sol) V3 = 1.73205, ans.) a) (1.73)3 = 5177717 = 5.18, b) (1.732)3 = 5.195695168 = 5.20
149 0|20 Bz F7|0L4X| 1.5 kW AH|, E{O| X = TH9| OJE{ S} OF 300WR X EDI0| £ 0|2 25
i FMX|IZ HOo® 0|2 £RE SXAZLS U7l HYHES MoK 2 B 588 20% 2 71,

= sol) CHEFX QL A AL S17] 2, 0|2 HA 2F 9,834,000 km2, 0|22 HK| QIR : 339,996,576 F (2023H7|EF)
A Ol=2l= 34 ‘%*%'EE A7 0|2EE % 18 0F km2O 2 Chadbsta] ®A| X 7|0 K| _,_QE H| At

A HX| P, = 3.4 x 8(EH)><15(|< ) = 5.1 x 108 kW,

_ 2
oo Prot  _ _ Saxiottw 9 m2, Ator _ (85x10% ) (1075 km) " _ —4 _
=205 Ag= Pci:ll e 300 x 0.2 W /m?2 8.5x10 " Ausa {1><107 Jem—}{ 1 m } 8.5 x 10 0.085%

ans.) 2F 0.1 %



MAESH HHReF 8 <AtZ CIES Al
a)10m+ 1 mm , b)
Tip) Xl lidl=2 7t

o o=

S Ans) a) 1.0 m + (1 #an) (

1 wmm

b) 1.0 m X (1 mm) (10_3 =

) = 0.001 m2 (EE= 1 X
1 m—iﬁ)iks
¢) 1.0 m — (999 mm) (10 m

1 mm

1.0m

FaTAE 1
) =10+ 0999 m =0001m=00m (M L}
d) 1.0 m = (999 mm) (110_3 m) = {

1.68 TMA Ak o|HX| &H[E2 2f 500 EJ, ApAEW)E
of 2 AAtstet Z20)2 Sl | K| T2
= sol) Et

CHR| E(AAN) = 1078, ans.) 500 EJ/y =

L7t oKX= A0 StE, SAddr Lt
1073 m

=42
) = 1.0 +0.00Tm=1001Tm=10 mX

O_Q%m} ~ 1.001001 = 1.0 (X

FI2 et
|2 1W = 1J/s O|LC},

(500 x 1018 ))

OmX1Tmm,c10m-999 mm, d) 1.0 m = 999 mm
Xt 7 Ol

S| |'_T|_ olo|C} 1

(365 xX86400 s)
MAA QP4 = o 809 (2022) , LOIT W

L O O -

~ 1.59 x 1013 (W) ,

1.59 x 1013 w

HX| AH|& = = 2. 3
O] 28 = (L2 H) — 20 x 10° (W)

=
2 LIE FExAts 2T RAMAL|7HK])
103 m2) (MY M2 3 mm £ 17§
2 LE FRxAts 2 AMAL|7HK])
A M2 FEX= 1.0 2 270, T AHA)
o



